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A) OBJECTIVE TEST
Choose the correct answer in the following sentences:
Question 1: Put a piece of Fe into solution containing copper Cu (NO3) 2 and AgNO3. After the reaction yields a single metal, plurals may be present in the solution obtained:


A.1 
B. 2 
C. 3 
D. 4
Question 2: Fully absorbed 2.24 liters of CO2 (standard) in aqueous solution containing 0.075 moles of Ca (OH) 2. The salt obtained  after the reaction is:


A, CaCO3.
 B, Ca (HCO 3)2 
C, CaCO 3 and Ca (HCO 3)2 









D, CaCO 3 and CaHCO3.

Question 3: Fully consume 11.2 liters of CO2 with a solution containing 20 g of NaOH. Salt created to:

A, Na2CO3.
B. NaHCO3. 
C. Na2CO3 and NaHCO3. 
D, Na (HCO3)2.

Question 4: Dissolve 2.4 grams of salt of a divalent metal in 21.9% HCl 10% solution, just enough. Oxide is:


A. CuO 
B. CaO 

C. MgO 
D. FeO

Question 5: Reagents used to identify HCl solution and H2SO4 solution are:


A, K2SO4 
B. Ba (OH) 2 
C. NaCl 
D. NaNO3
Question 6: Give 21 grams of MgCO3 with a sufficient amount of 2M HCl solution.

The volume of HCl solution used is:


A, 2.5 liters 
B. 0.25 liters 
C.3.5 liters 
D. 1.5 liters

Question 7: To prepare the salt chloride, choose the following pair of substances?


A. Na2SO4, KCl. 
C. H2SO4, BaCl2



B. HCl, Na 2 SO 4. 
D. AgNO3, HCl.

Question 8: To clean the solution of  FeCl2 with CuCl2 impurities we use:


A. H2SO4
B. HCl

C. Al

D. Fe
Question 9: Dissolve 3.6 g of a divalent metal with a solution of  3.47 liters of H2SO4 diluted with H2. Metals are:


A. Zn
 B. Mg
 C. Fe
 D. Ca
Question 10: Adds 1.68 liters of CO2 gas to the solution of 5.6% KOH. To obtain the unique KHCO3 salt, x has the following values:


A. 75 g 

B. 150 g 
C. 225 g 
D. 300 g

B) ESSAY

Question 11: 

Dissolve the metal A into the solution of 7.3% HCl just enough to reach the salt content of 9.295%. Determine A?
C. ANSWER KEYS

A.
	Sentence
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Keys
	B
	C
	B
	A
	B
	B
	D
	D
	B
	A


B.

Question 11

Let n be the value of A.

Chemical methods: 2A + 2nHCl ( 2ACln + nH2
Number of mole: x nx x

According to the equation we have the equation:

x (MA + 35.5n). 100%: (MAx + nx.5 .100) - nx = 9.295%

Solve the equation we get: 90,705x MA = 1088,205nx

	n
	1
	2
	3

	MA
	12(not satisfied)
	24(Mg)
	36(not satisfied)


So A is Mg
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